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Social Development: 10,000 BC to 2000
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Machines augmenting muscles
= Industrial Revolution
= First Machine Age

Everything changed.



Machines augmenting brains

= Second Machine Age
=CognitiveEnhancement
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Sometimes,
our brains
fall us.
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Classical Approachdsr CogE
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Computingfor CogE

Processing  Memory Communication
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People You May Know See All
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DeepDive CogE Example:

Industrial Circuit Design
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Circuit Design Challenge

AEach part has a tolerance of +25%
AYour circuit has billion parts
ABy the way:
Alt has to be twice as fast as before
AWith half the size
AAnd the same power
Alf the chip fails, it willlose ourcompany
$50M+in manufacturing ands100M+ in
sales
AYou have 3 months, go!

wall.alphacoders.com




Circuit Design Challenge

AEach part has a tolerance of +25%

AYour circuit has billion parts
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Key Solution: CAD tools that
cognitively augmenthe engineer via
computing + Al + natural interfaces
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$50M+in manufacturing ands100M+ in
sales

AYou have 3 months, go!




CAD tools that
cognitively augmenthe engineer via

computing + Al + natural interfaces
(This is what | build.)



